1-2F £ QRS IBIL

NO K& =15 FE | R4V
1 NES YeoLvE [ SHAHF 2 24
2 =LY [FpE R 2 22
3 B I Al 2 18
4 DizR K539 1F | SHAHEF 2 14
5 PFELE L& | =48 2 10
5 AHAPlIT FFhNE [ ESHAHEF 2 10
5 HLEh ={H B 2 10
8 KLZ HLrvE A 2 8
8 WEWTH (F0E| =48 2 8
8 == HD3B A B 2 8
8 [TOL OAE D =) 2 8
12 XF =5 £ 1 6
13 =5 WPpo57- ELD 2 4
13 LLlh 5= ELD 1 4
13 SLEh IFAEAS [ ELAE 2 4
16 NEA Y= BEMT 2 2
16 ISE L AR £ 2 2

FrLbTANZES
12 £ DER
KT ILAB—
NO K4 =15 FE FOE%
1 HULSH 1={H 3B 2 15.47
2 LLZR HLrE A 2 18.73
3 MmES YrS0E | SHAAE 2 19.5
4 f=hn W51 ELN 2 20.05
5 B [FH0E R 2 21.29
5 NEA YUE BERT 2 21.29
BELeE=T7E
NO K4 =15 ok A0 8%
1 HOF FFWE [ SAHF 2 5cm
2 WEWTH [FRE| =48 2 17cm
3 [THL vAE =D =) 2 24cm
4 LLEh 5= ER 1 28cm
5 PFEELE LESEE | =48 2 52cm
INA—=HFYY
NO K& =15 FE 0 8%
i ahL s B IE iR 2 58km
2 =B [FH0E R 2 54km
2 == H#DB AR5 2 54km
2 MES YeSE [ SHAAE 2 54km
5 PFEELE LESEE | =48 2 53km
BA LS 2yiay
NO EEﬁ Aia $¢ = i"i‘
1 NhéED YEovs | SAAEF 2 20.23
2 BHhLE pI3E A 2 21.19
3 PFEELE LES2 | =48 2 23.17
4 DGR K53 | EHAHFF 2 23.82
5 =F L ALY &3 2 23.97
AE—K42—4" vk
NO K# =15 | FE ECER
1 bEGR E5TF [SHHEF 2 132
2 B [FH0E R 2 1350
3 KFE =% A 1 1=
4 Alhi [TA=A5| ELALE 2 115
5 [FL VAE ) =) 2 115
XKEBHARILEEIIZFALOREWNVAREREIZEYET,




3AFAED

AR # A B AL

NO K£ 215 2E | RAUE
1 Holy FOE [ ABIK 4 36
2 =T BEVA | ABIK 4 18
3 E=sh 591F| ABRIK 4 12
4 =5 51 E4B 3 10
4 BT bbb fEHT 4 10
6 Yhh F=& EA 4 8
6 Uibly A FTOA | ERE 3 8
6 T3 UL RIUE 4 8
9 LolEs s Fhe 4 6
9 BhaE e | pEE 4 6
9 BhEN YA PR 3 6
12 ITIE MiFB FEB 3 4
12 ES N RILUE 4 4
12 hH<sE VDSDY| ELAR 3 4
12 EFLA E5F [p%] 4 4
16 EUDE F=IFE | ABIK 4 2
16 b Fhé | ABK 3 2
16 =LNES W51 | AR 4 2
16 =6 [TAT=%5 ;8 4 2

Fr LSRR RS
3 AFEEDER
KYJJILAR—
NO K% =15 FE FCE% |
1 Holy F0E ARIK 4 15.66
2 Yhh FFE A 4 15.85
3 =T BHUVA A B 4 16.03
4 =Eh 571 | ABIK 4 16.6
5 EYDFE F=IF& A B 4 16.87
BLeFE=_TEL
NO K4 =15 P SCE%
1 &5 Iof: E2PN 3 25cm
2 Ubly hFTUA | FEFxE 3 42cm
3 ITIE Mi+B FEB 3 47cm
4 LIS hgE | FrE 4 60cm
5 b Fhé A B 3 73cm
INA—hFxvH
NO K% =15 FE sC8%
1 Holy FNE ARIK 4 78km
2 T3 U< RILH 4 69km
2 E=ch 5911 | ABIK 4 69km
4 91 25 HILMA 4 68km
5 SWES W5 | ARIK 4 67km
AL IV Iy
NO K% =15 P SCER
1 =T BHVA A B 4 13.68
2 HolLY FENE A B 4 16.66
3 EHTE HLrE o 4 16.85
4 hH<HE VDY | ELAE 3 17.22
5 =6 A=A A 4 18.45
AE—RF4—4yk
NO K% 215 ok Soi%
1 b b BEMT 4 1848
2 Holy FE A B 4 158
3 BhEM» YA FER 3 15m
4 FLA E5F o 4 14m
5 =T BEUVA A B 4 1388
XEHARICESIEIZALOBEVNARERIZEYET,




NO K£ =215 FE | RAb
1 =56 Y< A BIK 6 26
2 =GR FIP | ELHLE 6 18
2 f=hFL Z57f- | BEET 5 18
2 Hhehbh =HL | ERD 6 18
5 T Y& A B 6 14
5 £S5 FLVE E R 5 14
7 ST oA | HER 5 12
8 MNESH Ys512| RS 6 10
9 ==, IO | ARK 6 8
10 NEA B iediin) 6 4
11 hH<E 571 ELLE 5 2
11 HHhE DS A B 6 2
11 A2 ITAE [ SHHE 6 2
11 Yhh ZH5H | FrE 5 2

FrLESRXRS

5-6F £ DER

KU ILRS—
NO Kf =i5 A S0 &R
1 bR F3P [ELAE 6 13.6
2 3= Y&k A BIK 6 16.12
3 f=mIL Z>571= BEMT 5 16.89
4 Hehbh =-HL | EIRS 6 17.41
5 I&E LOH LY 5 17.44

BLrE=TE
NO K4 =i5 PEE ECE%
1 NEEH Yeo5F- | ERB 6 10cm
2 =S LV ER~ 5 22cm
3 FIE Yk ABIK 6 30cm
4 I&E LOH =Y 5 92cm
5 rH<E 571+ | ELA R 5 103cm

INA—hFxvs
NO K% =15 ok S0ER
1 F=56 U< A BRI% 6 73km
2 Hi-GR FIP | ELHLE 6 73km
2 IES5 LV E=4B 5 69km
4 Hehbh =-HL | ErRe 6 68km
5 HhE S A BIK 6 67km

CEfR2RXRBERE>=A REBZETL., EEIRRZICGYELE

NO K4 A FoE%
1 hehbh =L [ ERS 6 11.73
2 E=EH KLP® | AR 6 12.89
3 55 UL A B 6 14.1
4 f=mIL Z>571= BEEHT 5 14.75
5 S [FAE SHAEF 6 14.78
AE—KA—4yk

NO K% =15 ok oh
1 F=56 YL A RIK 6 265
2 =hIIL #57= BEMT 5 218
3 IIF HOH A=Y 5 185
4 NTH Hh BEEHT 6 164
5 LY S5H ) =) 5 115
XKEMARCEEFFMLOBRNVARERIZEYET,




	1.2年
	3.4年
	5.6年

